K & K Montageanleitung 2008
K & K Installation 2008

www.kaiser-kuehne-play.com Tel. 04254 - 93150

© Kaiser & Kiihne Freizeitgerate 27324 Eystrup

(A Montage mit Bolzen (bauseits)

1. Geratestandort unter Ber

tcksichtigung

des Platzbedarfs festlegen.

2. Bodenaushub fir Fundame
Zeichnung vornehmen.

nte nach

3. Nach Abbinden der Betonfundamente
Bohrungen fir Bolzen vorsehen (bauseits

/s. Anleitung Bolzen).

Gerat als Bahrschablone verwenden.
L, Bank mit Bolzen verschrauben.

Gestell
o
d--
o
Dibelbolzen bauseits
zB
Fischer Bolzen FBN 12/15-35 Al Beton C20/25

mit Hutmutter DIN 986 - M12

@ Installation with expansion

anchor (on site)

1. Assign location considering the space

requirement.

2. Excavate soil for foundations, according

Montage mit Fundamentanker 114 00 52
(optional)

1.

Bankstandort unter Beriicksichtigung
des Platzbedarfs festlegen.

2. Bodenaushub fiir Fundamente nach
Zeichnung vornehmen.

3. Fundamentanker mit Bank verschrauben
in Fundamentlocher stellen, ausrichten
und abstitzen.

4, Fundamente mit Stampfbeton C20/25 ausgieflen
und mit 0,20 m Bodenmaterial abdecken.

5. Freigabe der Bank nach Abbinden der
Betonfundamente.

Gestell
] Verschraubung:
0.K. Gelinde Linsen-Sicherheitsschraube ISO
— 7380-M10x30 A2
,/ Scheibe DIN 125-10,5
o
N~
Fundamentanker™ 1 |- il
Art. Nr. 1160052 [ [ =
AR ; o
Il =3
N I P (=}
0.30 Beton C20/25

Installation with ground anchoring 114 00 52
(optional)

1.

Assign location considering the space
reguirement.

to drawing. 2. Excavate soil for foundations, according to
3. Affer concrete foundations have sef drill drawing.
holes for expansion anchor acc. to 3. Bolt together bench with ground anchors, put
installation instructions of expansion into holes of foundations, align and supporft if.
anchor. Use bench as drilling jig. L. Grout in foundations with compressed concretfe
k. Drive in bolts into holes. Bolt fogether C20/25 and cover with sand 0.20 m
bench with expansion anchor. 5. Release bench after concrete foundations
have sef.
stand <tand
] Screw connection:
ground level ground level Safety screw ISO 7380-M10x30-A2
S EE—— S EEEEE—— ,/washer DIN 125-10,5
S
3_ ground anchor 1
< Art. Nr. 1140052
1 Sl g
expansion anchor (on site) : 3[ A 0°
E\g[her Bolt FBN 12/15-35 Ak with concrefe (20/25 . -
hexagon cap nut DIN 986 - M12-A2 0.30 concrete C20/25
i Art.-Nr. Bezeich MaBstab Stand
Montagean|eitung 2o seo s KikBak w120 coorst Zuset
Installation 60278 / 60280 / 60282 / K&K Seat . addition 1

60286 -000




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

The flange footings of the tubular frame serve as
drilling jigs for play table installation

Installation

Item No. Description Scale

0-60130-000 K&K (Round) play table 1:20

Date

06/17 EB

Page
11






